

Characterizations of semirings by their anti fuzzy ideals

MUHAMMAD SHABIR, SUMAYYA SHAH, MUHAMMAD SARWAR KAMRAN

Received 5 August 2012; Revised 30 September 2012; Accepted 6 November 2012

ABSTRACT. In this paper we define anti fuzzy ideals, anti fuzzy (generalized) bi-ideals and anti fuzzy quasi-ideals in semirings. We characterize different classes of semirings by the properties of their anti fuzzy ideals, anti fuzzy quasi-ideals and anti fuzzy bi-ideals.

2010 AMS Classification: 06D72, 20N10

Keywords: Anti fuzzy ideal, Anti fuzzy quasi-ideal, Anti fuzzy bi-ideal, Regular semiring, Intra-regular semiring.

Corresponding Author: Muhammad Shabir (mshabirbhatti@yahoo.co.uk)

1. INTRODUCTION

The fundamental concept of a fuzzy set, introduced by Zadeh in his definitive paper [15] of 1965, provides a natural frame work for generalizing several basic notions of algebra. Rosenfeld formulated the rudiments of the theory of fuzzy groups in [13]. Kuroki initiated the theory of fuzzy semigroups in his papers [11, 12]. Ahsan et al. discussed fuzzy semirings in [2] in 1993. In 1998, Ahsan characterized semirings by their fuzzy ideals in his paper [1]. Many researchers worked on fuzzy ideals of semirings, for example [3, 5, 6, 7, 8, 9]. On the other hand Biswas [4] introduced the concept of anti fuzzy subgroup of a group. Hong and Jun [10] modified Biswas's idea and applied it to BCK-algebras. They defined anti fuzzy ideal of a BCK-algebra. In 2010, Shabir and Nawaz characterized semigroups by their anti fuzzy ideals in [14]. In [3], Akram and Dar defined anti fuzzy h-ideals in hemirings. In this paper we introduced the concept of anti fuzzy ideal, anti fuzzy (generalized) bi-ideal and anti fuzzy quasi-ideal in semirings and characterized different classes of semirings by the properties of these ideals.

2. PRELIMINARIES

A semiring R is a non-empty set R equipped with two binary operations addition “+” and multiplication “.” such that $(R, +)$ is a commutative semigroup, $(R, \cdot)$ is a semigroup, multiplication distributes over addition from both sides and R contains an element 0 such that $a + 0 = 0 + a = a$ and $a0 = 0a = 0$ for all $a \in R$. A non-empty subset A of a semiring R is called a subsemiring of R if it is closed under addition and multiplication. A non-empty subset L of R is called a left (right) ideal of R if it is closed under addition and $ab \in L$ ($ba \in L$), for all $a \in R$ and $b \in L$. A non-empty subset L of R is called an ideal of R if it is both a left and a right ideal of R . A non-empty subset B of R is called a generalized bi-ideal of R if it is closed under addition and $BRB \subseteq B$. A non-empty subset B of R is called a bi-ideal of R if it is a subsemiring of R and $BRB \subseteq B$. A non-empty subset Q of R is called a quasi-ideal of R if it is closed under addition and $QR \cap RQ \subseteq Q$.

It is obvious that every left (right) ideal of a semiring is a quasi-ideal, every quasi-ideal is a bi-ideal and every bi-ideal is a generalized bi-ideal. But the converse is not true.

An element a of a semiring R is called regular if there exists an element $x \in R$ such that $a = axa$. A semiring R is regular if every element of R is regular.

It is well known that:

Theorem 2.1. *For a semiring R the following conditions are equivalent.*

- (1) R is regular.
- (2) $A \cap L = AL$ for every right ideal A and every left ideal L of R .

A fuzzy subset λ of a universe X is a function from X to the unit closed interval $[0, 1]$, that is $\lambda : X \rightarrow [0, 1]$. For any two fuzzy subsets λ and μ of R , $\lambda \subseteq \mu$ means that, for all $x \in R$, $\lambda(x) \leq \mu(x)$. The symbols $\lambda \wedge \mu$ and $\lambda \vee \mu$ means the following fuzzy subsets of R .

$$(\lambda \wedge \mu)(x) = \lambda(x) \wedge \mu(x) \text{ and } (\lambda \vee \mu)(x) = \lambda(x) \vee \mu(x)$$

for all $x \in R$.

More generally if $\{\lambda_i\}_{i \in I}$ is a family of fuzzy subsets of X , then their union and intersection is defined as follows:

$$\left(\bigvee_{i \in I} \lambda_i\right)(x) = \bigvee_{i \in I} (\lambda_i(x)) \text{ and } \left(\bigwedge_{i \in I} \lambda_i\right)(x) = \bigwedge_{i \in I} (\lambda_i(x))$$

for all $x \in R$.

Let A be a subset of X . Then the characteristic function of A is defined as:

$$C_A(x) = \begin{cases} 1 & \text{if } x \in A \\ 0 & \text{otherwise} \end{cases}$$

3. ANTI FUZZY IDEALS

In this section we define anti fuzzy left (right) ideal, bi-ideal, generalized bi ideal and quasi-ideal of semiring and study some properties of these ideals.

Definition 3.1. Let λ be a fuzzy subset of a semiring R and $x, y \in R$.

- (1) $\lambda(x + y) \leq \lambda(x) \vee \lambda(y)$
- (2) $\lambda(xy) \leq \lambda(x) \vee \lambda(y)$
- (3) $\lambda(xy) \leq \lambda(y)$ ($\lambda(xy) \leq \lambda(x)$)

(4) $\lambda(xyz) \leq \lambda(x) \vee \lambda(z)$.

Then λ is called an anti fuzzy subsemiring of R , if it satisfies (1) and (2).

It is called an anti fuzzy left (right) ideal of R , if it satisfies (1) and (3).

A fuzzy subset λ of R is called an anti fuzzy ideal of R if it is both an anti fuzzy left and right ideal of R .

λ is called an anti fuzzy generalized bi-ideal of R , if it satisfies (1) and (4).

λ is called an anti fuzzy bi-ideal of R , if it satisfies (1), (2) and (4).

Definition 3.2. For any fuzzy subset λ of a universe X and $t \in [0, 1]$ we define

$$L(\lambda; t) = \{x \in X : \lambda(x) \leq t\}$$

which is called the anti level cut of λ .

Next we characterize anti fuzzy subsemiring (left ideal, right ideal, bi-ideal) by their anti level cuts.

Theorem 3.3. (1) A fuzzy subset λ of a semiring R is an anti fuzzy subsemiring of R if and only if $L(\lambda; t) \neq \emptyset$ is a subsemiring of R for all $t \in [0, 1]$.

(2) A fuzzy subset λ of a semiring R is an anti fuzzy generalized bi-ideal of R if and only if $L(\lambda; t) \neq \emptyset$ is a generalized bi-ideal of R for all $t \in [0, 1]$.

(3) A fuzzy subset λ of a semiring R is an anti fuzzy bi-ideal of R if and only if $L(\lambda; t) \neq \emptyset$ is a bi-ideal of R for all $t \in [0, 1]$.

(4) A fuzzy subset λ of a semiring R is an anti fuzzy left (right) ideal of R if and only if $L(\lambda; t) \neq \emptyset$ is a left (right) ideal of R for all $t \in [0, 1]$.

Proof. (1) Let λ be an anti fuzzy subsemiring of R and $x, y \in L(\lambda; t)$. Then $\lambda(x) \leq t$ and $\lambda(y) \leq t$. Since $\lambda(x + y) \leq \lambda(x) \vee \lambda(y) \leq t \vee t = t$, we have $\lambda(x + y) \leq t$, that is $x + y \in L(\lambda; t)$. Also $\lambda(xy) \leq \lambda(x) \vee \lambda(y) \leq t \vee t = t$. This implies that $\lambda(xy) \leq t$, that is $xy \in L(\lambda; t)$. Hence $L(\lambda; t)$ is a subsemiring of R .

Conversely, assume that $L(\lambda; t) \neq \emptyset$ is a subsemiring of R for all $t \in [0, 1]$. Suppose there exist $x, y \in R$ such that $\lambda(x + y) > \lambda(x) \vee \lambda(y)$. Choose $t \in [0, 1]$ such that $\lambda(x + y) > t \geq \lambda(x) \vee \lambda(y)$. Then $x, y \in L(\lambda; t)$ but $x + y \notin L(\lambda; t)$, which is a contradiction. Hence $\lambda(x + y) \leq \lambda(x) \vee \lambda(y)$. Similarly, we can prove that $\lambda(xy) \leq \lambda(x) \vee \lambda(y)$. This proves that λ is an anti fuzzy subsemiring of R .

The proofs of (2), (3) and (4) are similar to the proof of part (1). $\square$

Example 3.4. Consider the semiring $R = \{0, 1, a, b, c\}$ defined by the following tables

+	0	1	a	b	c
0	0	1	a	b	c
1	1	b	1	a	1
a	a	1	a	b	a
b	b	a	b	1	b
c	c	1	a	b	c

·	0	1	a	b	c
0	0	0	0	0	0
1	0	1	a	b	c
a	0	a	a	a	c
b	0	b	a	1	c
c	0	c	c	c	0

Then $(R, +, \cdot)$ is a semiring. Define $\lambda : R \rightarrow [0, 1]$ by $\lambda(0) = 0.1$, $\lambda(c) = 0.3$, $\lambda(a) = 0.6$, $\lambda(b) = \lambda(1) = 0.7$.

$$L(\lambda; t) = \begin{cases} R & 0.7 \leq t < 1 \\ \{0, a, c\} & 0.6 \leq t < 0.7 \\ \{0, c\} & 0.3 \leq t < 0.6 \\ \{0\} & 0.1 \leq t < 0.3 \\ \emptyset & t < 0.1 \end{cases}$$

Then by Theorem 3.3, λ is an anti fuzzy ideal of R .

Theorem 3.5. Let A be a non-empty subset of a semiring R . Define the fuzzy subset λ of R by

$$\lambda(x) = \begin{cases} t & \text{if } x \notin A \\ r & \text{if } x \in A \end{cases}$$

where $t, r \in [0, 1]$ such that $t \geq r$. Then

- (1) A is a left (right) ideal of R if and only if λ is an anti fuzzy left (right) ideal of R .
- (2) A is a subsemiring of R if and only if λ is an anti fuzzy subsemiring of R .
- (3) A is a (generalized) bi-ideal of R if and only if λ is an anti fuzzy (generalized) bi-ideal of R .

Proof. Straightforward. $\square$

Remark 3.6. From above theorems we conclude that a non-empty subset A of a semiring R is a left (right, bi, generalized bi) ideal of R if and only if the characteristic function of the complement of A , that is C_{A^c} is an anti fuzzy left (right, bi, generalized bi) ideal of R .

Lemma 3.7. The union of any family of anti fuzzy left (right) ideals of a semiring R is an anti fuzzy left (right) ideal of R .

Proof. Let $\{\lambda_i : i \in I\}$ be a family of anti fuzzy left ideals of R and $x, y \in R$. Then

$$\left(\bigvee_{i \in I} \lambda_i\right)(x + y) = \bigvee_{i \in I} (\lambda_i(x + y))$$

(Since each λ_i is an anti fuzzy left ideal of R , so $\lambda_i(x + y) \leq \lambda_i(x) \vee \lambda_i(y)$ for all $i \in I$). Thus

$$\begin{aligned} \left(\bigvee_{i \in I} \lambda_i\right)(x + y) &= \bigvee_{i \in I} (\lambda_i(x + y)) \\ &\leq \bigvee_{i \in I} (\lambda_i(x) \vee \lambda_i(y)) \\ &= \left(\left(\bigvee_{i \in I} \lambda_i\right)(x)\right) \vee \left(\left(\bigvee_{i \in I} \lambda_i\right)(y)\right). \end{aligned}$$

Now

$$\left(\bigvee_{i \in I} \lambda_i\right)(xy) = \bigvee_{i \in I} (\lambda_i(xy))$$

$\lambda_i(xy) \leq \lambda_i(y)$ for all $i \in I$). Thus

$$\left(\bigvee_{i \in I} \lambda_i\right)(xy) = \bigvee_{i \in I} (\lambda_i(xy)) \leq \bigvee_{i \in I} (\lambda_i(y)) = \left(\bigvee_{i \in I} \lambda_i\right)(y).$$

Hence $\bigvee_{i \in I} \lambda_i$ is an anti fuzzy left ideal of R . $\square$

Definition 3.8. Let λ, μ be fuzzy subsets of R . Then the anti product of λ and μ is defined by

$$(\lambda * \mu)(x) = \bigwedge_{x = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \mu(z_i)] \right]$$

for $x \in R$ and $p \in \mathbb{N}$.

Proposition 3.9. If λ, μ are anti fuzzy left (right) ideals of R , then $\lambda * \mu$ is an anti fuzzy left (right) ideal of R .

Proof. Let λ and μ be anti fuzzy left ideals of R and $a, b, r \in R$. Then

$$(\lambda * \mu)(a) = \bigwedge_{a = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \mu(z_i)] \right]$$

and

$$(\lambda * \mu)(b) = \bigwedge_{b = \sum_{j=1}^q y'_j z'_j} \left[\bigvee_{1 \leq j \leq q} [\lambda(y'_j) \vee \mu(z'_j)] \right].$$

Thus

$$\begin{aligned} (\lambda * \mu)(a) \vee (\lambda * \mu)(b) &= \left[\bigwedge_{a = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \mu(z_i)] \right] \right] \\ &\quad \vee \left[\bigwedge_{b = \sum_{j=1}^q y'_j z'_j} \left[\bigvee_{1 \leq j \leq q} [\lambda(y'_j) \vee \mu(z'_j)] \right] \right] \\ &= \bigwedge_{a = \sum_{i=1}^p y_i z_i} \bigwedge_{b = \sum_{j=1}^q y'_j z'_j} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \mu(z_i)] \right] \\ &\quad \vee \left[\bigvee_{1 \leq j \leq q} [\lambda(y'_j) \vee \mu(z'_j)] \right] \\ &\geq \bigwedge_{a+b = \sum_{k=1}^s y''_k z''_k} \left[\bigvee_{1 \leq k \leq s} [\lambda(y''_k) \vee \mu(z''_k)] \right] \\ &= (\lambda * \mu)(a+b). \end{aligned}$$

Now

$$\begin{aligned}
 (\lambda * \mu)(a) &= \bigwedge_{a=\sum_{j=1}^q y_j z_j} \left[\bigvee_{1 \leq j \leq q} [\lambda(y_j) \vee \mu(z_j)] \right] \\
 &\geq \bigwedge_{a=\sum_{j=1}^q y_j z_j} \left[\bigvee_{1 \leq j \leq q} [\lambda(r y_j) \vee \mu(r z_j)] \right] \\
 &= \bigwedge_{ra=\sum_{j=1}^q y''_n z''_n} \left[\bigvee_{1 \leq n \leq t} [\lambda(y''_n) \vee \mu(z''_n)] \right] \\
 &= (\lambda * \mu)(ra).
 \end{aligned}$$

Thus $\lambda * \mu$ is an anti fuzzy left ideal of R . $\square$

Theorem 3.10. *Let λ be an anti fuzzy right ideal and μ be an anti fuzzy left ideal of a semiring R . Then $\lambda * \mu \geq \lambda \vee \mu$.*

Proof. Let λ be an anti fuzzy right ideal and μ be an anti fuzzy left ideal of a semiring R and $x \in R$. Then

$$\begin{aligned}
 (\lambda * \mu)(x) &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} (\lambda(y_i) \vee \mu(z_i)) \right] \\
 &\geq \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} (\lambda(y_i z_i) \vee \mu(y_i z_i)) \right] \\
 &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\left[\bigvee_{1 \leq i \leq p} \lambda(y_i z_i) \right] \vee \left[\bigvee_{1 \leq i \leq p} \mu(y_i z_i) \right] \right] \\
 &\geq \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\lambda \left(\sum_{i=1}^p y_i z_i \right) \vee \mu \left(\sum_{i=1}^p y_i z_i \right) \right] \\
 &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} (\lambda(x) \vee \mu(x)) \right] \\
 &= (\lambda \vee \mu)(x)
 \end{aligned}$$

Thus $\lambda * \mu \geq \lambda \vee \mu$. $\square$

Now we show that if λ and μ are anti fuzzy ideals of a semiring R , then $\lambda * \mu \not\leq \lambda \vee \mu$ and $\lambda * \mu \not\leq \lambda \wedge \mu$.

Example 3.11. Consider the semiring $R = \{0, 1, a, b, c\}$ defined by the following tables

+	0	1	a	b	c
0	0	1	a	b	c
1	1	b	1	a	1
a	a	1	a	b	a
b	b	a	b	1	b
c	c	1	a	b	c

·	0	1	a	b	c
0	0	0	0	0	0
1	0	1	a	b	c
a	0	a	a	a	c
b	0	b	a	1	c
c	0	c	c	c	0

The (crisp) ideals of R are $\{0\}$, $\{0, c\}$, $\{0, a, c\}$, and R . Let $A = \{0, a, c\}$ and $B = \{0, c\}$ then $(C_{A^c} * C_{B^c})(c) = 1$ but $(C_{A^c} \vee C_{B^c})(c) = 0$ and $(C_{A^c} \wedge C_{B^c})(c) = 0$. Hence $\lambda * \mu \not\leq \lambda \vee \mu$ and $\lambda * \mu \not\leq \lambda \wedge \mu$.

Definition 3.12. Let λ and μ be fuzzy subsets of R . Then their anti sum $\lambda \oplus \mu$ is defined as

$$(\lambda \oplus \mu)(x) = \bigwedge_{x=y+z} [\lambda(y) \vee \mu(z)]$$

for all $x \in R$.

Proposition 3.13. Let λ and μ be anti fuzzy left (right) ideals of R . Then $\lambda \oplus \mu$ is an anti fuzzy left (right) ideal of R .

Proof. Let λ and μ be anti fuzzy left ideals of R and $x, \acute{x} \in R$. Then

$$(\lambda \oplus \mu)(x) = \bigwedge_{x=y+z} [\lambda(y) \vee \mu(z)]$$

and

$$(\lambda \oplus \mu)(\acute{x}) = \bigwedge_{\acute{x}=\acute{y}+\acute{z}} [\lambda(\acute{y}) \vee \mu(\acute{z})]$$

Thus

$$\begin{aligned}
 (\lambda \oplus \mu)(x) \vee (\lambda \oplus \mu)(\acute{x}) &= \left[\bigwedge_{x=y+z} [\lambda(y) \vee \mu(z)] \right] \vee \left[\bigwedge_{\acute{x}=\acute{y}+\acute{z}} [\lambda(\acute{y}) \vee \mu(\acute{z})] \right] \\
 &= \bigwedge_{x=y+z} \bigwedge_{\acute{x}=\acute{y}+\acute{z}} [[\lambda(y) \vee \mu(z)] \vee [\lambda(\acute{y}) \vee \mu(\acute{z})]] \\
 &= \bigwedge_{x=y+z} \bigwedge_{\acute{x}=\acute{y}+\acute{z}} [[\lambda(y) \vee \lambda(\acute{y})] \vee [\mu(z) \vee \mu(\acute{z})]] \\
 &\geq \bigwedge_{x=y+z} \bigwedge_{\acute{x}=\acute{y}+\acute{z}} [\lambda(y + \acute{y}) \vee \mu(z + \acute{z})] \\
 &\geq \bigwedge_{x+\acute{x}=a+b} [\lambda(a) \vee \mu(b)] \\
 &= (\lambda \oplus \mu)(x + \acute{x}).
 \end{aligned}$$

Again, let $x, a \in R$. Then

$$\begin{aligned} (\lambda \oplus \mu)(x) &= \bigwedge_{x=y+z} [\lambda(y) \vee \mu(z)] \\ &\geq \bigwedge_{x=y+az} [\lambda(ay) \vee \mu(az)] \\ &= \bigwedge_{ax=y+z} [\lambda(y) \vee \mu(z)] \\ &= (\lambda \oplus \mu)(ax). \end{aligned}$$

Hence $\lambda \oplus \mu$ is an anti fuzzy left ideal of R . $\square$

Lemma 3.14. *A fuzzy subset λ of a semiring R is an anti fuzzy subsemiring of R if and only if $\lambda \oplus \lambda \supseteq \lambda$ and $\lambda^2 = \lambda * \lambda \supseteq \lambda$.*

Proof. Let λ be an anti fuzzy subsemiring of R and $x \in R$. Then

$$\begin{aligned} (\lambda \oplus \lambda)(x) &= \bigwedge_{x=y+z} [\lambda(y) \vee \lambda(z)] \\ &\geq \bigwedge_{x=y+z} [\lambda(y+z)] \\ &= \bigwedge_{x=y+z} \lambda(x) \\ &= \lambda(x) \\ \implies (\lambda \oplus \lambda)(x) &\geq \lambda(x). \end{aligned}$$

Thus $\lambda \oplus \lambda \supseteq \lambda$. Now

$$\begin{aligned} \lambda^2(x) &= (\lambda * \lambda)(x) \\ &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \lambda(z_i)] \right] \\ &\geq \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i z_i) \vee \lambda(y_i z_i)] \right] \\ &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} \lambda(y_i z_i) \right] \\ &\geq \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\lambda\left(\sum_{i=1}^p y_i z_i\right) \right] \end{aligned}$$

$$\begin{aligned}
 &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \lambda(x) = \lambda(x) \\
 \implies &\lambda^2(x) \geq \lambda(x).
 \end{aligned}$$

Thus $\lambda^2 \supseteq \lambda$.

Conversely, assume that λ is a fuzzy subset of R such that $\lambda \oplus \lambda \supseteq \lambda$ and $\lambda^2 \supseteq \lambda$. Then for $x, y \in R$, we have

$$\begin{aligned}
 \lambda(x+y) &\leq (\lambda \oplus \lambda)(x+y) \\
 &= \bigwedge_{x+y=a+b} [\lambda(a) \vee \lambda(b)] \\
 &\leq \lambda(x) \vee \lambda(y) \\
 \implies &\lambda(x+y) \leq \lambda(x) \vee \lambda(y)
 \end{aligned}$$

and

$$\begin{aligned}
 \lambda(xy) &\leq \lambda^2(xy) \\
 &= (\lambda * \lambda)(xy) \\
 &= \bigwedge_{xy=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \lambda(z_i)] \right] \\
 &\leq \lambda(x) \vee \lambda(y) \\
 \implies &\lambda(xy) \leq \lambda(x) \vee \lambda(y)
 \end{aligned}$$

Thus λ is an anti fuzzy subsemiring of R . □

Lemma 3.15. *A fuzzy subset λ of a semiring R is an anti fuzzy left (right) ideal of R if and only if $\lambda \oplus \lambda \supseteq \lambda$ and $\tilde{O} * \lambda \supseteq \lambda$ ($\lambda * \tilde{O} \supseteq \lambda$), where $\tilde{O}$ is the fuzzy subset of R mapping every element of R on 0.*

Proof. Let λ be an anti fuzzy left ideal of R and $x \in R$. Then

$$\begin{aligned}
 (\lambda \oplus \lambda)(x) &= \bigwedge_{x=y+z} [\lambda(y) \vee \lambda(z)] \\
 &\geq \bigwedge_{x=y+z} [\lambda(y+z)] \\
 &= \bigwedge_{x=y+z} [\lambda(x)] \\
 &= \lambda(x) \\
 \implies &(\lambda \oplus \lambda)(x) \geq \lambda(x).
 \end{aligned}$$

Thus $\lambda \oplus \lambda \supseteq \lambda$. Now

$$\begin{aligned}
 (\tilde{O} * \lambda)(x) &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\tilde{O}(y_i) \vee \lambda(z_i)] \right] \\
 &\geq \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\tilde{O}(y_i) \vee \lambda(y_i z_i)] \right] \\
 &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i z_i)] \right] \\
 &\geq \bigwedge_{x=\sum_{i=1}^p y_i z_i} \left[\lambda\left(\sum_{i=1}^p y_i z_i\right) \right] \\
 &= \bigwedge_{x=\sum_{i=1}^p y_i z_i} \lambda(x) \\
 &= \lambda(x) \\
 \implies (\tilde{O} * \lambda)(x) &\geq \lambda(x).
 \end{aligned}$$

Thus $\tilde{O} * \lambda \supseteq \lambda$.

Conversely, assume that λ is a fuzzy subset of R such that $\lambda \oplus \lambda \supseteq \lambda$ and $\tilde{O} * \lambda \supseteq \lambda$. Then, for $x, y \in R$ we have

$$\begin{aligned}
 \lambda(x+y) &\leq (\lambda \oplus \lambda)(x+y) \\
 &= \bigwedge_{x+y=a+b} [\lambda(a) \vee \lambda(b)] \\
 &\leq \lambda(x) \vee \lambda(y) \\
 \implies \lambda(x+y) &\leq \lambda(x) \vee \lambda(y).
 \end{aligned}$$

And

$$\begin{aligned}
 \lambda(xy) &\leq (\tilde{O} * \lambda)(xy) \\
 &= \bigwedge_{xy=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\tilde{O}(y_i) \vee \lambda(z_i)] \right] \\
 &\leq \tilde{O}(x) \vee \lambda(y) \\
 &= \lambda(y) \\
 \implies \lambda(xy) &\leq \lambda(y).
 \end{aligned}$$

Thus λ is an anti fuzzy left ideal of R . □

Definition 3.16. A fuzzy subset λ of a semiring R is called an anti fuzzy quasi-ideal of R , if it satisfies,

- (1) $\lambda(x + y) \leq \lambda(x) \vee \lambda(y)$
- (2) $\lambda(x) \leq \max \left\{ (\lambda * \tilde{O})(x), (\tilde{O} * \lambda)(x) \right\}$

for all $x, y \in R$.

Where $\tilde{O}$ is the fuzzy subset of R mapping every element of R on 0.

Theorem 3.17. A fuzzy subset λ of a semiring R is an anti fuzzy quasi-ideal of R if and only if $L(\lambda; t) \neq \emptyset$ is a quasi-ideal of R for all $t \in [0, 1]$.

Proof. Suppose λ is an anti fuzzy quasi-ideal of R and $x, y \in L(\lambda; t)$. Then $\lambda(x) \leq t$ and $\lambda(y) \leq t$. Since $\lambda(x + y) \leq \lambda(x) \vee \lambda(y) \leq t$, we have $\lambda(x + y) \leq t$. Thus $x + y \in L(\lambda; t)$. Now let $a \in (RL(\lambda; t)) \cap (L(\lambda; t)R)$. Then $a = \sum_{i=1}^p y_i z_i$ and $a = \sum_{j=1}^q s_j t_j$, where $y_i, t_j \in R$ and $z_i, s_j \in L(\lambda; t)$ ($1 \leq i \leq p$, $1 \leq j \leq q$). Thus $\lambda(z_i) \leq t$ for $1 \leq i \leq p$ and $\lambda(s_j) \leq t$ for $1 \leq j \leq q$. Since

$$\begin{aligned} (\tilde{O} * \lambda)(a) &= \bigwedge_{a = \sum_{k=1}^r a_k b_k} \left[\bigvee_{1 \leq k \leq r} [\tilde{O}(a_k) \vee \lambda(b_k)] \right] \\ &\leq \bigvee_{1 \leq i \leq p} [\tilde{O}(y_i) \vee \lambda(z_i)] \\ &\leq t \end{aligned}$$

and

$$\begin{aligned} (\lambda * \tilde{O})(a) &= \bigwedge_{a = \sum_{l=1}^a u_l v_l} \left[\bigvee_{1 \leq l \leq a} [\lambda(u_l) \vee \tilde{O}(v_l)] \right] \\ &\leq \bigvee_{1 \leq j \leq q} [\lambda(s_j) \vee \tilde{O}(t_j)] \\ &\leq t. \end{aligned}$$

We have $\lambda(a) \leq \max \left\{ (\lambda * \tilde{O})(a), (\tilde{O} * \lambda)(a) \right\} \leq t$. Thus $a \in L(\lambda; t)$. This shows that $L(\lambda; t)$ is a quasi-ideal of R .

Conversely, assume that $L(\lambda; t) \neq \emptyset$ is a quasi-ideal of R for all $t \in [0, 1]$. Let $x, y \in R$ be such that $\lambda(x + y) \geq \lambda(x) \vee \lambda(y)$. Choose $t \in [0, 1]$ such that $\lambda(x + y) > t \geq \lambda(x) \vee \lambda(y) \implies x, y \in L(\lambda; t)$ but $x + y \notin L(\lambda; t)$ which is a contradiction. Hence $\lambda(x + y) \leq \lambda(x) \vee \lambda(y)$.

Now let $a \in R$ be such that $\max \left\{ (\lambda * \tilde{O})(a), (\tilde{O} * \lambda)(a) \right\} < \lambda(a)$. Choose $t \in [0, 1]$ such that $\max \left\{ (\lambda * \tilde{O})(a), (\tilde{O} * \lambda)(a) \right\} \leq t < \lambda(a)$. Then $(\lambda * \tilde{O})(a) \leq t \implies a \in L(\lambda; t)R$ and $(\tilde{O} * \lambda)(a) \leq t \implies a \in RL(\lambda; t)$. Hence $a \in (RL(\lambda; t)) \cap (L(\lambda; t)R) \subseteq L(\lambda; t)$, this implies that $a \in L(\lambda; t)$, that is $\lambda(a) \leq t$, which is a contradiction. Hence $\lambda(a) \leq \max \left\{ (\lambda * \tilde{O})(a), (\tilde{O} * \lambda)(a) \right\}$. Thus λ is an anti fuzzy quasi-ideal of R . $\square$

Theorem 3.18. *A non-empty subset Q of a semiring R is a quasi-ideal of R if and only if the fuzzy subset λ of R defined as*

$$\lambda(x) = \begin{cases} t & \text{if } x \notin Q \\ r & \text{if } x \in Q \end{cases}$$

is an anti fuzzy quasi-ideal of R , where $t, r \in [0, 1]$ such that $t \geq r$.

Proof. The proof is similar to the proof of Theorem 3.5. $\square$

Remark 3.19. From above theorem we conclude that a non-empty subset Q of a semiring R is a quasi-ideal of R if and only if the characteristic function of the complement of Q , that is C_{Q^c} is an anti fuzzy quasi-ideal of R .

Theorem 3.20. *Every anti fuzzy left ideal of R is an anti fuzzy quasi-ideal of R .*

Proof. Let λ be an anti fuzzy left ideal of R . Then by Theorem 3.15 $\tilde{O} * \lambda \geq \lambda$. Thus

$$\max \left\{ (\lambda * \tilde{O})(x), (\tilde{O} * \lambda)(x) \right\} \geq (\tilde{O} * \lambda)(x) \geq \lambda(x).$$

Hence λ is an anti fuzzy quasi-ideal of R . $\square$

Theorem 3.21. *Every anti fuzzy quasi-ideal of R is an anti fuzzy bi-ideal of R .*

Proof. Suppose λ is an anti fuzzy quasi-ideal of R and $x, y \in R$. Then

$$\begin{aligned} \lambda(xy) &\leq (\lambda * \tilde{O})(xy) \vee (\tilde{O} * \lambda)(xy) \\ &= \left[\bigwedge_{xy = \sum_{i=1}^p a_i b_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(a_i) \vee \tilde{O}(b_i)] \right] \right] \vee \\ &\quad \left[\bigwedge_{xy = \sum_{j=1}^q s_j t_j} \left[\bigvee_{1 \leq j \leq q} [\tilde{O}(s_j) \vee \tilde{O}(t_j)] \right] \right] \\ &\leq [\lambda(x) \vee \tilde{O}(y)] \vee [\tilde{O}(x) \vee \lambda(y)] \\ &= [\lambda(x) \vee 0] \vee [0 \vee \lambda(y)] \\ &= \lambda(x) \vee \lambda(y). \end{aligned}$$

So $\lambda(xy) \leq \lambda(x) \vee \lambda(y)$. Also,

$$\begin{aligned}
\lambda(xyz) &\leq (\lambda * \tilde{O})(xyz) \vee (\tilde{O} * \lambda)(xyz) \\
&= \left[\bigwedge_{xyz = \sum_{i=1}^p a_i b_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(a_i) \vee \tilde{O}(b_i)] \right] \right] \vee \\
&\quad \left[\bigwedge_{xyz = \sum_{j=1}^q s_j t_j} \left[\bigvee_{1 \leq j \leq q} [\tilde{O}(s_j) \vee \tilde{O}(t_j)] \right] \right] \\
&\leq [\lambda(x) \vee \tilde{O}(yz)] \vee [\tilde{O}(xy) \vee \lambda(z)] \\
&= [\lambda(x) \vee 0] \vee [0 \vee \lambda(z)] \\
&= \lambda(x) \vee \lambda(z).
\end{aligned}$$

So $\lambda(xyz) \leq \lambda(x) \vee \lambda(z)$. $\square$

4. REGULAR AND INTRA-REGULAR SEMIRINGS

In this section we characterize regular and intra-regular semirings by the properties of their anti fuzzy ideal, anti fuzzy bi-ideals and anti fuzzy generalized bi-ideals.

Lemma 4.1. *Let A, B be subsets of a semiring R and C_{A^c}, C_{B^c} be the characteristic functions of the complements of A and B , respectively. Then*

- (1) $C_{A^c} * C_{B^c} = C_{(AB)^c}$
- (2) $C_A \vee C_B = C_{A \cup B}$.

Proof. (1) Let $x \in (AB)^c$. Then $C_{(AB)^c}(x) = 1$. Now

$$(C_{A^c} * C_{B^c})(x) = \bigwedge_{x = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [C_{A^c}(y_i) \vee C_{B^c}(z_i)] \right].$$

As $x \in (AB)^c$, so $x \notin AB$. Thus there does not exist $y_i \in A, z_i \in B$ such that $x = \sum_{i=1}^p y_i z_i$. Hence whenever $x = \sum_{i=1}^p y_i z_i$, then $y_i \in A^c$ or $z_i \in B^c$. Thus

$$(C_{A^c} * C_{B^c})(x) = \bigwedge_{x = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [C_{A^c}(y_i) \vee C_{B^c}(z_i)] \right] = 1.$$

If $x \notin (AB)^c$, then $x \in AB$. Thus there exist at least one expression form of x as $\sum_{i=1}^p y_i z_i$ where $y_i \in A$ and $z_i \in B$. For this expression form

$$\bigvee_{1 \leq i \leq p} [C_{A^c}(y_i) \vee C_{B^c}(z_i)] = 0.$$

Thus

$$(C_{A^c} * C_{B^c})(x) = \bigwedge_{x = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [C_{A^c}(y_i) \vee C_{B^c}(z_i)] \right] = 0$$

Hence $C_{A^c} * C_{B^c} = C_{(AB)^c}$.

(2) Straightforward. $\square$

Theorem 4.2. *For a semiring R , the following conditions are equivalent.*

(1) R is regular.

(2) $(\lambda \vee \mu) = (\lambda * \mu)$ for every anti fuzzy right ideal λ and every anti fuzzy left ideal μ of R .

Proof. (1) $\implies$ (2) Let λ be an anti fuzzy right ideal and μ be an anti fuzzy left ideal of R . Then by Theorem 3.10, $\lambda * \mu \geq \lambda \vee \mu$. Let $a \in R$. Then there exists $x \in R$ such that $a = axa$. Thus we have

$$\begin{aligned} (\lambda * \mu)(a) &= \bigwedge_{a = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \mu(z_i)] \right] \\ &\leq \lambda(ax) \vee \mu(a) \\ &\leq \lambda(a) \vee \mu(a) \\ &= (\lambda \vee \mu)(a). \end{aligned}$$

Which implies that $\lambda * \mu \leq \lambda \vee \mu$. Hence $(\lambda \vee \mu) = (\lambda * \mu)$.

(2) $\implies$ (1) Let A be a right ideal and L be a left ideal of R . Then by Remark 3.6, C_{A^c} is an anti fuzzy right and C_{L^c} is an anti fuzzy left ideal of R . Thus by hypothesis $C_{A^c} \vee C_{L^c} = C_{A^c} * C_{L^c}$. By Lemma 4.1, $C_{A^c \cup L^c} = C_{(AL)^c}$. This implies $A^c \cup L^c = (AL)^c \implies (A \cap L)^c = (AL)^c \implies A \cap L = AL$. So by Theorem 2.1, R is regular. $\square$

Theorem 4.3. *For a semiring R the following conditions are equivalent.*

(1) R is regular.

(2) $(\zeta \vee \lambda \vee \mu) \geq (\zeta * \lambda * \mu)$ for every anti fuzzy right ideal ζ , every anti fuzzy generalized bi-ideal λ , and every anti fuzzy left ideal μ of R .

(3) $(\zeta \vee \lambda \vee \mu) \geq (\zeta * \lambda * \mu)$ for every anti fuzzy right ideal ζ , every anti fuzzy bi-ideal λ , and every anti fuzzy left ideal μ of R .

(4) $(\zeta \vee \lambda \vee \mu) \geq (\zeta * \lambda * \mu)$ for every anti fuzzy right ideal ζ , every anti fuzzy quasi-ideal λ , and every anti fuzzy left ideal μ of R .

Proof. (1) $\implies$ (2) Let ζ, λ and μ be any anti fuzzy right ideal, anti fuzzy generalized bi-ideal, and anti fuzzy left ideal of R , respectively. Let a be any element of R . Since R is regular, so there exists $x \in R$ such that $a = axa$. Hence we have

$$\begin{aligned} (\zeta * \lambda * \mu)(a) &= \bigwedge_{a = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\zeta(y_i) \vee (\lambda * \mu)(z_i)] \right] \\ &\leq \zeta(ax) \vee (\lambda * \mu)(a) \\ &\leq \zeta(a) \vee \bigwedge_{a = \sum_{j=1}^q s_j t_j} \left[\bigvee_{1 \leq j \leq q} [\lambda(s_j) \vee \mu(t_j)] \right] \end{aligned}$$

$$\begin{aligned}
 &\leq \zeta(a) \vee [\lambda(a) \vee \mu(xa)] \\
 &\leq \zeta(a) \vee [\lambda(a) \vee \mu(a)] \\
 &= (\zeta \vee \lambda \vee \mu)(a).
 \end{aligned}$$

Thus $(\zeta \vee \lambda \vee \mu) \geq (\zeta * \lambda * \mu)$.

(2) $\implies$ (3) $\implies$ (4) straightforward.

(4) $\implies$ (1) Let ζ and μ be any anti fuzzy right and any anti fuzzy left ideal of R , respectively. Since $\tilde{O}$ is an anti fuzzy quasi-ideal of R , by assumption we have

$$\begin{aligned}
 (\zeta \vee \mu)(a) &= (\zeta \vee \tilde{O} \vee \mu)(a) \geq (\zeta * \tilde{O} * \mu)(a) \\
 &= \bigwedge_{a=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [(\zeta * \tilde{O})(y_i) \vee \mu(z_i)] \right] \\
 &= \bigwedge_{a=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} \left[\left[\bigwedge_{y_i=\sum_{j=1}^q a_j b_j} \left[\bigvee_{1 \leq j \leq q} [\zeta(a_j) \vee \tilde{O}(b_j)] \right] \right] \vee \mu(z_i) \right] \right] \\
 &= \bigwedge_{a=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} \left[\left[\bigwedge_{y_i=\sum_{j=1}^q a_j b_j} \left[\bigvee_{1 \leq j \leq q} [\zeta(a_j)] \right] \right] \vee \mu(z_i) \right] \right] \\
 &\geq \bigwedge_{a=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} \left[\left[\bigwedge_{y_i=\sum_{j=1}^q a_j b_j} \left[\bigvee_{1 \leq j \leq q} [\zeta(a_j b_j)] \right] \right] \vee \mu(z_i) \right] \right] \\
 &\geq \bigwedge_{a=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} \left[\left[\bigwedge_{y_i=\sum_{j=1}^q a_j b_j} \left[\bigvee_{1 \leq j \leq q} \left[\zeta\left(\sum_{i=1}^p a_j b_j\right) \right] \right] \right] \vee \mu(z_i) \right] \right] \\
 &= \bigwedge_{a=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} \left[\left[\bigwedge_{y_i=\sum_{j=1}^q a_j b_j} [\zeta(y_i)] \right] \vee \mu(z_i) \right] \right] \\
 &= \bigwedge_{a=\sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\zeta(y_i) \vee \mu(z_i)] \right] = (\zeta * \mu)(a).
 \end{aligned}$$

Thus it follows that $(\zeta * \mu) \leq (\zeta \vee \mu)$ for every anti fuzzy right ideal ζ and every anti fuzzy left ideal μ of R . But $(\zeta * \mu) \geq (\zeta \vee \mu)$ by Theorem 3.10. So $(\zeta * \mu) = (\zeta \vee \mu)$. Hence it follows from Theorem 4.2 that R is regular. $\square$

Recall that a semiring R is intra-regular if for each $a \in R$ there exist $x_i, y_i \in R$ such that $a = \sum_{i=1}^p x_i a^2 y_i$.

It is well known that

Theorem 4.4. *A semiring R is intra-regular if and only if $A \cap L \subseteq LA$ for every right ideal A and left ideal L of R .*

Theorem 4.5. *The following assertions are equivalent for a semiring R*

- (1) R is both regular and intra-regular.
- (2) $B = BB$ for each bi-ideal B of R .
- (3) $Q = QQ$ for each quasi-ideal Q of R .

Theorem 4.6. *For a semiring R the following conditions are equivalent.*

- (1) R is intra regular.
- (2) $\lambda \vee \mu \geq \lambda * \mu$ for every anti fuzzy left ideal λ and every anti fuzzy right ideal μ of R .

Proof. (1) $\implies$ (2) Let λ and μ be anti fuzzy left and right ideals of R , respectively and $a \in R$. Then there exist $x_i, y_i \in R$ such that $a = \sum_{i=1}^p x_i a^2 y_i$. Thus

$$\begin{aligned} (\lambda * \mu)(a) &= \bigwedge_{a = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \mu(z_i)] \right] \\ &\leq \bigvee_{1 \leq i \leq p} [\lambda(x_i a) \vee \mu(a y_i)] \\ &\leq \bigvee_{1 \leq i \leq p} [\lambda(a) \vee \mu(a)] \\ &= (\lambda \vee \mu)(a). \end{aligned}$$

Thus $\lambda * \mu \leq \lambda \vee \mu$.

(2) $\implies$ (1) Let L be a left ideal and A a right ideal of R . Then C_{L^c} is anti fuzzy left ideal and C_{A^c} is an anti fuzzy right ideal of R . By hypothesis $C_{L^c} * C_{A^c} \leq C_{L^c} \vee C_{A^c} \implies C_{(LA)^c} \leq C_{L^c \cup A^c} \implies (LA)^c \subseteq L^c \cup A^c \implies L \cap A \subseteq LA$. Thus by Theorem 4.4, R is intra-regular. $\square$

Theorem 4.7. *For a semiring R the following conditions are equivalent.*

- (1) R is both regular and intra-regular.
- (2) $\lambda * \lambda = \lambda$ for every anti fuzzy quasi-ideal λ of R .
- (3) $\lambda * \lambda = \lambda$ for every anti fuzzy bi-ideal λ of R .
- (4) $\lambda * \mu \leq \lambda \vee \mu$ for every anti fuzzy quasi-ideals λ and μ of R .
- (5) $\lambda * \mu \leq \lambda \vee \mu$ for every anti fuzzy quasi-ideal λ of R and for all anti fuzzy bi-ideals μ of R .
- (6) $\lambda * \mu \leq \lambda \vee \mu$ for every anti fuzzy bi-ideals λ and μ of R .

Proof. (1) $\implies$ (6) Let λ and μ be any anti fuzzy bi-ideals of R and $a \in R$. Then, since R is regular, there exists $x \in R$ such that $a = axa$. Since R is intra-regular, there exist $y_i, z_i \in R$ such that $a = \sum_{i=1}^n y_i a^2 z_i$. Thus $a = axa = axaxa = ax \left(\sum_{i=1}^n y_i a^2 z_i \right) xa = \sum_{i=1}^n (axy_i a)(az_i xa)$. Hence

$$\begin{aligned} (\lambda * \mu)(a) &= \bigwedge_{a = \sum_{i=1}^p y_i z_i} \left[\bigvee_{1 \leq i \leq p} [\lambda(y_i) \vee \mu(z_i)] \right] \\ &\leq \bigvee_{1 \leq i \leq n} [\lambda(ax y_i a) \vee \mu(a z_i x a)] \\ &\leq \bigvee_{1 \leq i \leq n} [\lambda(a) \vee \mu(a)] \\ &= (\lambda \vee \mu)(a) \end{aligned}$$

and so $\lambda * \mu \leq \lambda \vee \mu$.

It is clear that (6) $\implies$ (5) $\implies$ (4).

(4) $\implies$ (2) Taking $\lambda = \mu$ in (4), we get $\lambda * \lambda \leq \lambda \vee \lambda = \lambda$. Since every anti fuzzy quasi-ideal of R is an anti fuzzy subsemiring of R , so by Theorem 3.14, we have $\lambda * \lambda \geq \lambda$. Thus $\lambda * \lambda = \lambda$.

(6) $\implies$ (3) Taking $\lambda = \mu$ in (6), we get $\lambda * \lambda \leq \lambda \vee \lambda = \lambda$. Since every anti fuzzy quasi-ideal of R is an anti fuzzy subsemiring of R , so by Theorem 3.14 we have $\lambda * \lambda \geq \lambda$. Thus $\lambda * \lambda = \lambda$.

(3) $\implies$ (2) Obvious.

(2) $\implies$ (1) Suppose Q is a quasi-ideal of R . Then C_{Q^c} is an anti fuzzy quasi-ideal of R , thus by hypothesis $C_{Q^c} * C_{Q^c} = C_{Q^c} \implies (QQ)^c = Q^c \implies QQ = Q$ and hence by Theorem 4.5, R is regular and intra regular. $\square$

Acknowledgements. The authors are very thankful to the learned referees and Editor-in-Chief, Young Bae Jun, for their suggestions to improve the present paper.

REFERENCES

- [1] J. Ahsan, Semirings characterized by their fuzzy ideals, J. Fuzzy Math. 6 (1998) 181–192.
- [2] J. Ahsan, K. Saifullah and M. Farid Khan, Fuzzy semirings, Fuzzy Sets and Systems 60 (1993) 309–320.
- [3] M. Akram and K. H. Dar, On anti fuzzy left h-ideals in hemirings, Int. Math. Forum 2(45-48) (2007) 2295–2304.
- [4] R. Biswas, Fuzzy subgroups and anti fuzzy subgroups, Fuzzy Sets and Systems 35 (1990) 121–124.
- [5] H. Hedayati, Fuzzy ideals of semirings, Neural Computing with Applications 20 (2011) 1219–1228.
- [6] H. Hedayati and K. P. Shum, An introduction to Γ -semirings, Int. J. Algebra 5(13-16) (2011) 709–726.
- [7] H. Hedayati, Equivalence relations induced by interval valued (S, T) -fuzzy h -ideals (k -ideals) of semirings, World Appl. Sci. J. 9(1) (2010) 1–13.

- [8] H. Hedayati, Generalized fuzzy k -ideals of semirings with interval-valued membership functions, Bull. Malays. Math. Sci. Soc. (2) 32 (2009) 409–424.
- [9] H. Hedayati, Interval valued intuitionistic (S, T) -fuzzy substructures in semirings, Int. Math. Forum 6 (2009) 293–301.
- [10] S. M. Hong and Y. B. Jun, Anti fuzzy ideals in BCK-algebras, Kyungpook Math. J. 38 (1998) 145–150.
- [11] N. Kuroki, Fuzzy bi-ideals in semigroups, Comment. Math. Univ. St. Paul. 28(1) (1980) 17–21.
- [12] N. Kuroki, On fuzzy ideals and fuzzy bi-ideals in semigroups, Fuzzy Sets and Systems 5 (1981) 203–215.
- [13] A. Rosenfeld, Fuzzy groups, J. Math. Anal. Appl. 35 (1971) 512–517.
- [14] M. Shabir and Y. Nawaz, Semigroups characterized by the properties of their anti fuzzy ideals, J. Adv. Res. Pure Math. 1(3) (2009) 42–59.
- [15] L. A. Zadeh, Fuzzy sets, Information and Control 8 (1965) 338–353.

MUHAMMAD SHABIR (mshabirbhatti@yahoo.co.uk)

Department of Mathematics, Quaid-i-Azam University, Islamabad, Pakistan

SUMAYYA SHAH (shah.sumayya@yahoo.com)

Department of Mathematics, Quaid-i-Azam University, Islamabad, Pakistan

MUHAMMAD SARWAR KAMRAN (drsarwarkamran@gmail.com)

Department of Basic Sciences, Riphah International University, Islamabad, Pakistan